MAT115 Quiz 12, Spring 2024
Name:

1. Give an example of the smallest infinity. ”
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2. (2 pts) There are 118 elements on the periodic table. We can think of the periodic table as a set containing
118 elements (which are actually elements!:). What'’s the size of its power set? CM[ ! 'j?.f_, W

Cord (6C)) = 2" s
e - Carsl ($)= )13,

e R
3. Describe the Hilbert Hotel.
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4. Which set is bigger — the natural numbers or the even natural numbers?
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5. Pascal’s triangle floats on a sea of what?

s o T¥> 6 o | o o
& ' p

6. (2 pts) Given the set A of artists: {Prince, Nirvana, TheB52s} (denote them {P. N, B}). Write down the
power set of A, P(A).
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7. (2 pts) Three infinite school buses show up to the Hilbert Hotel. Luckily it’s empty: how do we slide them
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